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General Instructions:

1) Students are advised to offer an answer to every question.
-Q/J/Jw;/uufg_égzd/;,ffjfuk"_gu
2) Read each question carefully before answering.
RN VIS
3) Do not take the question paper / answer sheet out of the examination centre.
-;.g?’t’ — ool /;Lc‘_uLf“'l;/-’f meg._rz/v_/hy/ U= —
4) Mark the correct option of MCQ using pencil. '
uféuuﬁﬁ_ﬂ/?_?,m@jLJwQuﬁmJ
5) More than one marked answer to the same question will not be considered.
¥ A ST ¥ sz L F il L]
6) Encircle the correct answer as shown in the example:
e AL I S i S L _in

Example: The number of subsets of the set {0} is
g:.;ldd/u;.t—/&{[_{O}_b,{:JLﬁ/

a) one —L two three o d) four A

Part-A (Multiple Choice Questions) Time Allowed: 1 hour

Instruction: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part.
Attempt all questions. All questions carry equal marks. Mark correct option on answer

sheet.
_“4//)4‘éb/dlﬁjﬂlw4l/,ff“zLJ’/ /‘-u;téng;;,mn}u}'mﬁ"( RUS e T imla
S B2
Rough work —,
J-/
Q. No.1. A subset of {3,5,7}is _;yé;(

«{3,5,7}
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(@ {312} ({35} ({105}  (d){8.7}

Q. No.2. Which of the following is not a set?

S sl e S5t
(a) {2,4,6} (b) {2- 4 - 6} (c) {2,4.6} (d) {2.4.6}
Q. No.3. The power set of {1} is —rulf

«{1}

@{} (b) b{0} (c) {1} d) {{} 1}

Q. No4. IfA={1,2} and B={2,3} then the universal set is
ez =990 B= {2,3} s A={1,2})F

(a) {1.2} (b) {2.3} (c){®, 1,23} (d) {1.2,3}
Q. No.5. (4)5 +(2)5:

(a) (10)s (b) (11)s (c) (24)s (d) (42)s

Q. No.6. The decimal number “22” is written in Binary system as
wﬁu&/ r;ﬁéujﬁ‘n”;udlc}i

(a)(11101), (b)(10110), (c) (11110), (d) (10100),

Q. No.7. The set of numbers used in base 5 is
;_.;‘y(;lulLuLndb&/lu:-/rLﬁLé&u-/ A

(@) {2345} (b) 101234}
(c) 012345} (d) {0,1,3,4}
Q. No.8. Which is a rational number? Fr s
S sar
(@3 (b)/5 ©N7 ON
Q. No.9. \/§is a/an .;_\/g
(a) even number —=& (b) odd numberJs

(c) rational number ¢ (d) irrational numberFt~"
Q. No.10. The number of digits in the square root of 144 is
(@), (b), (€); (d),
Q. No.11. Zarbakht purchased a toy for Rs. 120 and sold it for Rs.

150, his profit (in Rs.) is
o (D LB 150 42120005 (L= 55

Rough work —,
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(a) 20 (b) 25 (©) 30 (d) 36

Q. No.12. The monthly salary of Iram is Rs. 25,000. If rebate in tax is
Rs. 60,000 then taxable income will be

o~ 9 51600002 oF ~~ S g 3250000F e AL

JMGMT
(a) 35000 (b)85000 (c) 150000 (d) 240,000
Q. No.13. 10% of 100 is equal to
€v.1.,%106100

(@) 1 (b) 10 (c) 20 (d) 100

Q. No.14. If 5 men complete a task in 100 days, how many men will
complete the same work in 20 days?

s/ d U U92006500 T o S = s 1005 (6 —LiJ5T 5.1

()20 (b) 25 (c) 40 (d)50
Q. No.15. Square root of 784 is i
784
(@) 24 (b) 28 (c) 32 (d) 36
49
Q. No.16. Square root of 5 is ik
s
64
7 7 7 7
(a)8 ()16 (c) 2 ()64

Q. No.17. The missing term in (2a+3b)* = 4a? +( ) + 9b?is
e f @ (2a+3b) = 48> +() + 97

(a) 10ab (b) 12ab (c) 13ab (d) 26ab

Q.No.18. If x=1, y=-2 and z=3, then the value of

X —3y + 2z will be
-Jyz_:,é'd/x-3y+22 I X=1 1 y=-2, z=3./

@1 (b) 5 )6 (d) 13
Q. N0.19. (X*—x+1)(x+1)=

(@) (X° +2) (b) (x ~1)(x+1)’
() (X’ -1) (d) (x +1)(x-1)°

Q. No0.20. On subtracting3x® —2x y>—3 from3x®+2x*y -3 we get

Rough work —,
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b= AT SIS —2XY =8 s BC 20y -3

(@) 6x°+2x°y —2x y? (b) 2x°y +2x y?
(€)—2x°y +2x y? (d)6x* —2x%y +2xy* -6

Q. No.21. Solution of 2x—-5—-(2x—x+4) is
—JK2x—5-(2x—x+4)

(a) x+1 (b) x-9 (c) x+9 (d)x-1

Q. N0.22. (3a—4bc)?*=

(a)9a” —16b%c® +24abc  (b)9a’ +16b°c” +24abe
(c)9a’ +16b°c* —24abc (d)9a* —16b’*c” —24abc

Q. No.23. The number of sides of an octagon is

_q_JmIJJ Cu.,bléu:'
(@8 (b) 6 (©5 (d) 4

Q. No.24. Simultaneous linear equations in two variables are
‘,gufuu,u-/"&u._{‘}"*"'/,.;,u-?’”

a. 3x=-1 b, 3X+5y+9=0
3y’=-5 3x+2y —7=0
b. 3y-x+5=0 4 X*+7=0
3x+7y* =0 2y+3x=8
Q. No.25. The linear equation in two variables is
-q__~«l3L/&/;.~g‘}w /,_~«!f-../5:‘ 2
(@) 3x+5=7 (b) 2x+5y =2
(c) 3+5y=1 (d) 3+2 = 5x

Q. No.26. For which type of triangle is Pythagoras theorem used?
bl fti e rd L s 8P

(a) Obtuse-angled (b) Equilateral
(c) Acute-angled (d) Right angled

Q. No.27. The surface area of a sphere of radius 2.1cm is
-S*n.,)';(u'/lq_;f”ézf/z.lu-/w%/_.g

(a) 13.20 cm? (b) 13.84 cm?

Rough work —,

JJ

Page 4 of 5



(c) 27.72 cm? (d) 55.44 cm?

Q. No.28. The volume of a sphere of radius 0.7cm is

q_pgjgo/LU'/lur—/Oﬂ
(a) 14.37 cm® (b) 6.158 cm®
(c) 1.44 cm® (d) 0.359 cm’

Q. No0.29. If the radius of a circular cone is 6cm and its slant height is
10cm, then the height of the cone will be

_JMUMJL:#..{_[«-/I 06&.‘/{’&71}?—/6%»5’0{}»/4}._—6

(a) 8cm (b) 10cm (c) 16cm (d) 64cm
Q. No.30. In triangle PQR, length of PQ is  «_J4J PQ =~ PQR
—= A
@) 2 (b) 4 ©) 9 (d) 20

Q. No.31. Median of 10, 18,5, 25,30 iS ¢ me—slb-s630 <25 <5 <18 <10

()5 (b)10 ()18 (d)30

Q. No.32. Frequency of 3in 2,3,5,7,3,6,5,3,3,9,2,4,5 is
;_u%f/—')d’a:uu:-/z,3,5,7,3,6,5,3,3,9,2,4,5

(a) 2 (b) 3 (c) 4 (d)5
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